Nl

—All for dreams

FLE WAVE

N XY,

WP series

SR EETMUTEADA

NIDEC-SHIMPO KOREA CORPORATION



FLEXWAVE hits the scene

FLEX WA

10 ZE}2| Standard type FET|HA ) AFQE

ES:
Dimensions Table
r I oI 01 I 1;|°I J:olo Closed Type
= o ==
J = — |_u Ao X —i—l LSs =3 HA -~ |IEEEEETE
— "‘Iﬂiqw Component
-
R 10
ey Unit
EEEE
EX9| HZ0| 7I5E|0{ YLUM01E Z=57(0f|2] 7|cH7| =0kX| 11 ASLIC Open type
SALE 1Z4o] 7|cHol 2 EFSEY | f16H01 XIS VX S&8t 7 |== & ZH510q (e 1
AYPWE, Dz, KWl 2l Z447|E SHMSIHALICH ) Smeunt

E2X, 37| S 0] 2otollM EetsUSLICE

A’t " =
(ﬁb SUEER (53%) RV

Hollow unit

éip FUSER (225) K

Input shaft unit
"Relentless Refinement of Technology”,

EERE -+ 14
Model selection
EEETEEETER - 15
Estimated part life (Elastic bearing
FHAL (FHOE ) - 16
Estimated part life (Main bearing
AHF9| 5|25t - 18
Input shaft max. load

2 2| -+ 19
lubricant information

2N T -+ 20
Attachment fixture requirement

HMEEZ - 21
Transmitting Torque

EEEE - 24

Input section structure

F 0| APt - 25
Installation and assembly instruction

EEEEEE 26
Motor installation procedure

S 440 0| Ef e

Characteristics Data

Nidec-Shimpo Corporation is a global leader in various high precision gear
technologies. Based on increased demand for higher accuracy from machine
tool and robot manufacturers, we’ve utilized our expertise to develop a new
gear reduction mechanism.

=1

This mechanism, called Flexwave, addresses the need for high torq
density in a lightweight, compact package, combined with zero bac
and high reduction ratios. As a result, manufacturers of high perf
robots, machine tools and other automation equipment will se
performance and competitiveness in their respective market

o I
0.

Jim
0x

ZHAT A/ Arek i 2]
Reducer Model / Specifications
-+ 35

Dimensions Table



Parts Configuration

22X % Closed Type

WPC-[-[J-CN (CF)
Qe e

SEUEEY

WPU- 0 - -CN (CF)

FLIEE

2 EH open type

WPS I:I [1-SN WPU- [ - [1-SNJ
= -
SLIEER(22l%)

I%’-LIEEh%I

WPU- [ - [0 -SNH
i

FLIEEIR(SSY)

2 B0 2 =
(EF&) (ds, HYIts) (&=
Cam Elastic bearing

(elliptic)

(thin / flexible)

HHILS)
Flex gear
(thin / flexible)

2IE 2 7] 0

Internal
gear

b |

Reduction Mechanism

EtdHoE, & I01 Aol 2l EtE e 2 HYAZL T
Etelo] ZERE Ut 22 AT|ofet QIE{EII0{7t FEUA LS LIC
PIEE I & I'_i‘éﬁh_'_ AHS ANAYSE2Z 360° ™A SM Qe ET0{ 2
SEAT[0 9 Szt 20HE SR AT I BIA AL S22 3| ™S T
Flex gear and elastic bearing take elliptic shape with the cam inserted.
. Flgx gear and internal gear are engaged at both ends of the long axis of the ellipse in a stable manner

With the internal gear fixed, when the cam (input) is rotated clockwise, the flex gear (output) rotates
counterclockwise. And its rotational speed is determined by the tooth count differential between two gears




BEH

Parts Name

u elE{t7lof |

Internal gear

olE{dIl0f | .
Internal gear

T 1D

E827]10

Flex gear

E8A70f

Flex gear

EhdH|01

Elastic bearing

—  —

T~
=T

El2
Elliptic cam : Elliptic cam
Szx3 LEH
Closed type Open type

HEEH

Standard type

L]

Reduction Ratio

a1
ZHEH| = R
Reduction ratio

x el s|Marelnl Se{s|dato] HiCl
*The input and output rotation directions are opposite.

Ayl - |
& = — -
Reduction ratio

x @lB{s| XU 8k} 3| XU 80| S
*The input and output rotation directions are same.

@ R2 ZZJ| A S EL| Z5H|

R represents the 'Ratio’ figure in the specifications table on the next page.




FLEXWAVE |  WPAIRIE

17 2AL/ ARt r Al

& =1 Reducer Model Nomenclature I %EE§ .:._EEIEEI.OA

WP C —| 35 [—| 50 |— CN | % x Closed Type, Component

AI‘%I: : OIa:’:— LH%‘ =} WPC- D - D -CF
Specifications: Input shaft diameter, etc.
FE : CN, CF, SN, SNH. SNJ e
Code
LF LM
— Z+2:H| : 50, 80, 100, 120 T hG
Ratio HD cy
X
— AFO|= : 35, 42, 50, 63, 80 @t HE Availaviity 2-LT N-8LU
Size 4’&
Ratio matrix d —
i . T — ~ »
— Etgl : ¢ BEUEELY §luox | 50 | 80 | 100 | 120 >
S 70| BL| EE}Y é 35 / w(JS9)
U -—-SLEEMY g —3 i ‘
SUEER! (3 =) 42 ENQE @bu.\.z | ( \
RUEEY (535) 50 x| s| €|z CA 8| 8| ¢ .
Type : C...Component type 63 s b ) : ,.} I
AEZlZ=EH © WP A= S...Simple unit type DG | —h Y Bty
Series name : WP Series U...IUnlttty%eﬂ it 80 Ny ’
Hollow unit ' ' g
D=t 23
© / &, #SH (H1)
2
A
I-'—'|'7 IAI'c!: Reducer Specifications = Ao E
A|-O| = Viigoht M;;t of:u;tia
X2 X3 X 4 X 5 X 6 Size R
kg X10 "kgm
ZH & H SIEEOES SIEzUES HIMANZES |AEBIUAHSNS, | S EA U S 35 0.10 0.0383
A|’O| = Ratio Nominal output torque |Maximum output torque | Emergency stop torque Nominal input speed Maximum input speed
Size R 42 0.17 0.0855
[Nm] [Nm] [Nm] [r/min] [r/min] o 50 0.26 0.207
50 7 23 46 INPUT SHAFT FOR 35442 63 0.43 0.544
35 80 9 27 55 3000 8500 80 0.91 1.63
100 9 32 63
50 21 44 91 [mm]
80 26 50 102 ALO| = %1
42 3000 7300 ' LA LB LC N™ LU LT LE LF LG LH LM SG SH SL W
100 28 63 129 Size
120 28 63 129 35 44 38 50 8 (6) 3.5 M3 28.5 17.5 6 2 11 15.8 6 18.5 -
50 33 13 127 42 | 54 | 48 | 60 [16(12)| 35 | M3 | 325 | 20 | 65 | 25 | 125 | 158 | 8 | 207 | -
80 40 86 149
50 3000 6500 50 62 54 70 (16 (12)] 35 M3 335 | 215 1.5 3 12 248 12 21.5 4
100 47 96 172
120 47 96 172 63 75 67 85 |16 (12)] 45 M4 37 24 10 3 13 278 14 21.6 5
50 51 127 242 80 100 90 110 [16 (12)[ 5.5 M5 44 28 14 3 16 278 14 23.6 5
80 66 142 266
63 3000 5600
100 70 163 295 AFO| =
N SuU SA SB SD M ST SV HD CA CB CX CY Cz
120 70 163 295 Size
50 89 253 447 35 - 25 17 11 235 6 45 M3 24 C0.5 | C0.3 17 1 38
g0 L% 122 316 590 3000 4800 42 | - | 3 | 19 | 10| 27| 6 | 55| M3 | 3 [co5|co3| 19 | 1 | 45
100 142 346 673
50 13.8 - 24 16 32 8 55 M3 3 C05 | CO5 | 205 1.5 53
120 142 346 673
¥ 1TRAUS T lL1|0|X| of Alofl €0 L5t FHAIR *1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table. & 1653 - 30 20 40 8 6.5 M4 3 o5 | C05 23 15 66
¥ 2 =S| ™ 2000r/min Y 2| 5 Eot= A HKI *2 The maximum allowable value at the input rotation speed of 2000r/min 80 16.3 _ 40 26 52 8 88 M5 3.2 co5 | co5 | 268 15 86
¥ 3718, XA 0130f Z|CHR| *3 The maximum torque when starting and stopping.
#4524 50| AE5IAS Wl s Est= F A *4 The maximum torque when it receives shock. % 1 —CNIZ} —CF= X|47t CtELCH () 9F2 —CFo| ZLict.  *1-CN and -CF are different in dimensions. The -CF value is shown in ( ).
% 5 2B 3 E5t= E—,“ O'EQIE—?QI Z| i X| *5 The maximum average input speed. % 2SS AMOf CHalM = HE X4 T2 20IHt2tL|C} *2 For details in the input section, please check the drawings.
¥ 6 2T E0| o 8st= U3 M4 2R *6 The maximum input speed.



FLEXWAVE |  WPAIRIE

| S2Xx3 QL|EE}Q] B HHMZHE
= _— T — _— SES Weight M t of inerti
Closed Type, Unit | 2ES 20| FLIEEIY Size ?g Om;nojk Ir:j =
Open type, Simple unit £ -
WPU-[] -] -CN 35 0.39 00391
WPU |:| |:| CF WPS- D - D -SN 42 0.55 0.0870
50 0.79 0.209
63 13 0.549
80 2.7 1.65
LE
LF LM LE
LH  [LG LK LF LM
cy ) N-LU SC L _LH
0-ring
0-ring N-LT M-#ST LG
O~ - N-LT
T 1 . : &F
h ’ WUs9) ' g o
N _ 1 d h Q{]) N 5 it ‘ o Y W(JS9) ’
E ol ] u S/ o~ E o / I“h | = — | = AT
=| 3| =l 298 1ot - ? Z|E| s & ol | 2| E 7 ‘
N ° \ sy 23| g| s HEEE P,
Sim T ) el e Bl e \ -
. ‘ / T K /
o t A g & / > psH IH1)
HD A Rl N,
<~ BSH (H7)
X sL & . mn o
== AEQUE N d x
A|'0|5 Weight Moment of inertia (o FEQUAL\/ T 16/20iEOUAL T
Size ke 10" *kgm? &\‘ ! ‘/‘ &\‘ i X:
35 0.50 00377 § T e
INPUT SHAFT FOR 35842 42 0.68 0.0856 NPUT SHAFT FOR 35842 ARRANGEMENT FOR 35 ARRANGEMENT FOR 42
50 0.95 0.207 E—
63 15 0.544
80 3.3 1.63
[mm]
[mm]
AL?ZLE IA|lwB|w|w|{~N"|T|w|t|wv|w|w|w]|w]|Db]| sa m
*2(.)'5 LA | Lc | LE| LF| LG | LH| LW |LM]|sSG]|SH| sSL| w T | su| sa | sB
35 65 56 73 31 | 8(6) | M4 | 45 41 27 7 3.5 2 14 38 | 158 ize
42 | 71 63 | 79 | 38 [8(6) | M4 | 45 | 45 | 29 8 4 2 16 | 48 | 158 35 | 44 | 50 | 285|235 | 6 7 | 141 ] 5 [ 158 | 6 | 185 | - - | 25 | 64 | 48
50 82 72 93 45 | 8(6) | M5 | 55 | 455 | 28 10 5 3 175 | 56 | 2458 42 | 54 | 60 | 325 | 265 | 6.5 8 16 6 | 158 | 8 | 207 | - - 3 74 | 60
63 | 96 | 8 | 107 | 58 |10(8)| M5 | 55 | 52 | 36 | 10 5 3 16 | 67 | 278 ° | 62 | 70 |335] 29 | 75 | 85 | 175 45 | 248 | 12 | 215 ] 4 | 138 | - | 84 | 70
80 125 113 138 78 12 M6 6.5 62 45 12 5 3 17 90 278 63 77 85 37 34 10 12 18.7 3 278 14 21.6 5 16.3 - 102 88
80 | 100 | 110 | 44 | 42 | 14 | 15 | 234 | 2 | 278 | 14 | 236 | 5 | 163 | - | 132 | 114
MOI= sh | st | w | T | su|[sa|sB|[sc| M |sT|H |oCx|ovy|ocz ~
*29'— sc|sop| M |stT|caley|cz|leov|cw]| N LT
35 6 18,5 - - 25 23 11 8 6 |M4x8| 95 1.6 1 38 ze
42 s | 207 | - _ 3 27 10 7 6 IMsxsl 95 | 13 1 45 35 | 24 | 70 8 35 | co3 | 1 38 | 16 | 31 8 |M3x5 ¢35x6
50 | 12 | 215 4 |138| - | 32 | 14 | 10| 8 |[Mex9l 9 | 15 | 15 | 53 42 | 3 |80 | 12 | 35 |C03 | 1 |45 | 2 | 37 | 16 M3Ix6 $35x65
# 1 -CNIt -CF= XI=DJt CHELICH () o2 -CFol gt LILCH *1 -CN and -CF are different in dimensions. The -CF value is shown in ( ). 80 3.6 142 12 55 c0.5 1.5 86 2 72 16 |M5 X8 ¢55x 14
#* 2 AR AN HolME €& XSS SQIHHELICH *2 For details in the input section, please check the drawings. %1 QU2 AKO CHEHA S S & X|AEE SolHfiL|C). *1 For details in the input section, please check the drawings.

10 11



FLEXWAVE |  WPAIRIE

| - A — | — A —
- X3 : | X+E
|
Bl N T E AO| = e ETHE
= = . - —— = = Weigh M f inerti
| 28 FLIEEIRY (535) g I M 1| 23 RLIEE] (=) Seo |16 T et
Open type, Unit (hollow shaft) kg x10 "kgm Open type, Unit (input shaft) Py 048 00376
35 0.57 0.103 : :
WPU- [ - [ -SNH 42 0.79 0.230 WPU-[]-[]-SNJ e 0.69 0.0897
50 11 0460 50 1.0 0.208
63 17 1924 63 1.6 0.554
80 34 318 80 3.2 1.74
LE
LE LG LF LH
L LK L) ]
. _ LR t
La E
=| < Ir = =
HHE SERE 4| 8l = 3|5
wlalu vl ol gl el e T s s
wlwnlwn w| = —
e el e RSSARSY ASY E
_a
|
Lp =
rL U ’“’!_N\(
. e T Aok, f )
& ol | % T /12 EQuAL P _t6/20 EauaL %
7 o/m EquaL 16/20FQUAL § SR | i 4 i ! $
T [ i 1 ’
W o4 % 4 S S,
'\L ' | o A
B \‘*F* N-LT" N LT
LT LT INPUT SHAFT FOR 3542 ARRANGEMENT FOR 35 ARRANGEMENT FOR 42
INPUT SHAFT FOR 35842 ARRANGEMENT FOR35 ~ ARRANGEMENT FOR 42
[mm] [mm]
Ato| = MOIZL Al B |l e | w | | |w!|w|w!|w|]w|lw]|Lw]|Lw
Size— LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR Size
35 44 36 54 70 | 525 | 205 | 12 20 75 8 9 25 55 6.5 35 44 36 o4 70 | 505 | 205 | 15 15 2.5 8 9 11 - -
42 54 45 64 80 | 565 | 23 12 | 215 | 85 85 10 25 55 6.5 42 54 45 64 80 56 23 17 16 3 8.5 10 12 - -
50 62 50 75 90 515 25 5 215 7 9 105 _ _ _ 50 62 50 75 90 63.5 25 21 17.5 3 9 10.5 - 16.5 20
63 77 60 90 110 55.5 26 6 235 6 85 105 _ _ _ 63 77 60 90 110 725 26 26 20.5 3 8.5 10.5 - 225 25
80 100 85 115 142 65.5 32 7 265 5 95 12 _ _ _ 80 100 85 115 142 845 32 26 26.5 5 95 12 - 225 25
AO| =
MOIZl sa | sB | sc | sD | sE | SF| M | sT | su| N LT (1% sa | sB | sc [ sE | sv|sw | M | sT[su| N LT
35 64 - 14 20 74 36 8 35 M3 8 |M3x5 ¢35x115 35 64 6 - 74 - - 8 3.5 - 8 |M3x5 ¢35x115
42 74 - 19 25 84 45 12 35 M3 16 | M3 x 6, ¢ 35 x 12 42 74 8 - 84 - - 12 3.5 - 16 | M3 x 6, ¢35x 12
50 84 | 255 | 21 30 95 - 12 35 M3 x 6| 16 |M3 x 6, ¢ 35x 135 50 84 10 8.2 95 3 3 12 35 M3 x 6| 16 | M3 X6 ¢35x135
63 102 | 335 | 29 38 | 115 - 12 45 M3 x 6| 16 |M4 x 7, ¢ 45 x 155 63 | 102 14 11 115 o 5 12 45 |M3x 6 16 | M4 x7 ¢45x155
80 132 405 36 45 147 - 12 55 M3 x 6 16 M5 X 8, ¢ 55 X 205 80 132 14 1 147 5 5 12 55 [M3 x 6| 16 M5 X 8, ¢ 55 x 205

12 13



14

FLEXWAVE ‘ WP Al2I=
AAMMA | | (EtMH|0{E)

. é,él*._"@_‘?. EE Model selection low . E._I-‘A:;l HIIIO'I EA#%‘ 7:“A|_I' Life span for the elastic bearing

o T =
[ | _I'__II_-I llH E'_-I Operation cycle example

“#&700| d2l= Fotxzel =l
_ = _ - _ T, ! |
- EoEEES Boelds - eindstE SstEg — T i
- ]
=] RS EnECPSES OH A|AH BI= T ' 2 |
—'-I HE = E3 —'-l —|—2| =T = A| = Ol‘g Working torque ! T3 | T
- RHESS 3 4
Operation condition of the reducer B =L x {0 >4 i A| 7|_|'
« Average output torque - Radial load € T Ol-_l_ — '—l XH = E L i | Time
) ) Re-evaluate the operation contidion i |
« Maximum output torque + Axial load n
« Average rotation speed * Moment load ny Z ns
+ Maximum rotation speed
E5|8 4 Ny
Output rotation
<€ spegd bl [t b ‘ Al Zt
Time
v
ZEA |0 HAIS FIM A
I'?er:pzrla—r;l sefI::ecFonEofil-mlgdg @.Tgl E’%E—':! E3 - —J‘_C—I I:H %E—E! E3-9—| A_F%
Calculation formula for output torque
= ot T et TP oen ot T
HAEHES Tao Nm | Tao=s n;*t; 1‘ +n,t, 2‘ teectn, ot n‘
Average output torque ao= Nt +n,stoeeen ot
1 Y1 2 Y2 n “n

HAHEHES Tmo =T, T,, +*+ T, 2] A

_ T N
E[-/g |j-|| O-l E'él _/'&Ect)l Q_' g‘I-OI_I Peak output torque value ) ul Tmo = Largestamong T,, T,, ... T,
Calculate the life span for the elastic bearing ZHESHEFI} S22 OS5 0|5t HAS EOI510 TAA L
NG Please make sure the peak output torque is below the maximum output torque in the specification tabl

QEDUHIM e - HUUHZ M| AE
Calculation formula for input speed

Ha=a5 net,+nyctycecn, ot
EEEE LSS oo | v/ | a0 = Tl e s "
Average output rotation speed bttt e+,

Fuojg 4ol 2ol

Calculate the life span for the main bearing

D& TS oo | e/ |20 =10 1 ee 0, S ATNA
NG Peak output rotation speed nmo = Largest among ny, n,, ... n,

EETIEE TIPS
Average input speed

nai |r/min|nai =nao xB (R =71%1]) (R = ratio)

FREEETE
Peak input speed value
FUAH ™I S EF D UH W™ 0|5t A S 2050 FHA2

Please make sure the peak input speed value is below the maximum input speed in the specification tabl

nmi | r/min |nmi = nmo xR (R=7+%H]) (R =ratio)

AH SH oS sts 2 =kl
Calculate the load condition at the input bearing

ne @+ TAIZHE|
Calculation formula for life span
E}A 2| 209 3
HAo AU E Par e e toing | Lhe [P | Zhe = 7000 (T2} (242
Re-evaluation of the model
8 HAES o | N |S5ES S8BRED
I7:|l-z._\l_7| 9_| ?.Dcl é! 7E:| ng Rating torque Nominal output torque in the specification tabl

Reducer selected

5 A
EELIEETR
Rating input rotation speed

nar |[r/min|2000 r/min

15



FLEXWAVE

WP Al2l=

SHAN (FHI0I)

| —DF—H'” O'I %I A|' %l: (32&%3{ lj'” O'I <ED|) Main bearing specification(Cross roller bearing

LA (EHHI0{Z)

SRS HNEE | snz | =sEsE | JIRYIASS | S2UE | HEy Dz|chFst2HES| AF
rcie diameter o . . . . . . o0 m
A2| = APO| A : tchecl;e(;ringl rollers Offset Basic dynamic load rating| Basic static load rating | Allowable moment| Moment rigidity Calculation formula for the largest working moment
Series Size D L C (¢} Mal K i H5
n 2 2 ahl S Tetz A= Mm | Nm |Mm = Fom « (Lr + L) + Eam + La
m m N N Nm X 10" Nm/rad g nenkinsimoment _
35 0.0335 0.0088 5620 6540 36.5 7.35 Z|CHeH ol A ot S Frm | N |fm = f B e B, 2 AT
Peak radial load Frm = Largest among Fr,, Fr,, ... Fr,
42 0.0410 0.0098 6340 8170 55.8 8.02 AN DS = I R REEEE
WPU-O-0O-c O] 50 0.0485 0.0098 10400 13300 91.0 13.5 Peak axial load Fam N Fam = Largest among Fa,, Fa,, ... Fa,
63 0.0620 0.0108 15800 21100 156 27.7 ZHFESIEHET S ERHE 0|5t AS 0I5 FAA 2
80 0.0815 0.0128 24400 35600 313 66.0 Please make sure the peak working moment is below the maximum allowable moment
35 0.0505 0.0162 7110 10200 74.0 144
42 0.0598 0.0180 10900 15200 124 19.7
WPS-O-O-SN| 50 0.0708 0.0194 17200 24700 187 40.1 @rg ey Eloéal_g . %*l%‘ﬁ'% rgﬁ_%g!ilxd_/r_ %ﬂ'—?—stnﬂEQJ AE
63 0.0856 0.0234 25100 37400 258 71.5 Calculation formula for the Average radial load, Axial load, Average output rotation speed, Average working moment
80 0.114 0.0292 43300 67600 580 188 — — —
35 0.0505 00217 7110 10200 740 144 HaeCiYstE = | syt |73 e | By e ot |
Average radial load Fra=
WP~ O~ O] -SNH 42 0.0598 0.0235 10900 15200 124 19.7 net,tny,cty+eeetn, ot
WPU- O - O -SNJ 50 0.0708 0.0254 17200 24700 187 40.1 v v 07
63 0.0856 0.0289 25100 37400 258 715 YR AMLGS Faa | N Faa:lyi/nl'fl'FM Sty |Fay| Pt n, ot o|Fa |7
Xlal loa
80 0.114 0.0357 43300 67600 580 188 melytny by teeetn, o,
HasH3de - _mtnyctn,tt,
- = H.l = A O 7:1 A|. Avera<g>e output rotation speed nao | r/min | nao= t 4t ooty
T IO-I o T o | L_ Part life span for the main bearing 1 2 n
_ HARSIZHE _
B2 i e Operation cycle example Av;age _v'v_orking oment Ma Nm |Ma=Fra* (Lr+L)+Faa * La
Fr,
Fr,
Bioidsts | Fry
Radial load | Fr _ _ =
atl B S A @stEAS - SSICIYEIE A&
I I I me Calculation formula for the Loading factor, Equivalent radial load
Fa,
Fa, Faa -
ol AlOd =L = =1.5° 4% Xc=10, Yc=045
ﬁALE_ lolrgd Fa, s Fra + 2Ma | Dm ¢
xial loa SHEA 4 -
| Fa3 A| 7|_|' Average working moment Xe, Ye
| Time Faa
| | | > 1.59 3% Xc=067, Yc =067
. Fra +2Ma |/ Dm o8 e ¢
| 2 | |
ny \"3 |
o N S SolYCIYsS - X :
S8 Ny A\zr?ge workingEmom_fnt Pe N Pe=Xe (Fia +2M3/Dm) * Yo« Faa
Output rotation
speed Ll [t ty J AlZt
_ Time
W2 75t
External load L _
Lr L L L @FH = | £TAZE ME
] — — Life span for the main bearing
| _| N \£ ] { _— 10
Y = 2l AOY Al 7 6 3
Lif_er supﬂnojoﬁh:mjnﬁle;tng Lhe h Lhc = 10 * ¢ ’
Fr @ | r 60 *nao \ fw-Pc
] £ £ £ = 5
i 5 s 5| =] 1.0 522 SWIIK Q= FS o shock
S & S 4 Liro 2AS Euial Ao w
: v Impact factor fw - [.2:ctaQ EHZ SEtst=E A% with some shock
| — DI T o 1.5:MSEZE Stitst= 4% with shock and vibration

16

17



FLEXWAVE WP Al2l=

=2 51ZotS _ =2

== 2 A
| H'” O‘I %I Al’%k (2: °o‘:I ) _Ic_>|_ L—l E E—"%I ) Bearing specification (Open type, Unit .AI'OJEI— Grease
Hlo1 R A H01 R B AO|ZAA MP No.2 (AR ZSEX FAZ| A
Bearing A Dol o Sumiplex MP No.2 (SUMICO LUBRICANT CO., LTD.)
NEES Moz =S EE5E | 7I2d8845s | JIesd84s6ts | ZIed84s5ts a b
Series Size |Basic dynamic load rating| Basic static load rating |Basic dynamic load rating | Basic static load rating -:E
_|_;'t G licati
c Co c Co rease application
N N N N mm mm —
35 4000 2470 4000 2470 16 27 WPC ( _E_iLIjEEl-OI ) = WPS ( Ol L S EH ) =
42 4300 2950 4300 2950 16 31 0 I-EH 9|- 7EI-O| -1 El S zE 6|-O=| T Al 2.
For WPC (Component type) and WPS (Simple unit type), please apply grease according to the table below.
WPU-O-0O-SNH | 50 4500 3450 4500 3450 14.5 275
63 4900 4350 4900 4350 15.5 30.8
80 14100 10900 5350 5250 19 | 370 B2 AT 2EZ Grease application [g]
35 2240 910 1080 430 24 215 AFO| = T I A Applied part
42 2700 1270 1610 710 27 235 Size A B C D
WPU-O-0O-SNJ | 50 4350 2260 2240 910 315 26 35 03 03 6.0 03
63 5600 2830 2700 1270 375 29 42 05 05 10 05
80 9400 5000 4350 2260 39 38.5 50 08 08 16 08
HIO{2 A — HIO12 A — 63 1.5 1.5 30 1.5
o o
Bearing A — ] Bearing A — ] g0 30 30 60 30
o B L EEL:
4 e Bearing B Bearing B
_x‘gﬂ o \% 3
9 i |l El ﬁEi—?‘ Grease application location
.t o
T T I WPC WPU WPS
N ] A‘\ /B He—m 7 N )
X n —
a b a b ., r—
| j D = = = » / g
_ _ _ _ C — ad EHIE) e C
W5 25HE (HAYU2F M4 2000r/min, £HAIZF : 7000h) — et T
Maximum load (Average input rotation speed : 2000r/min, Life span : 7000h) ﬁg ff 3 Er g
WPU-[1-[]-SNH WPU-[-[J-SNJ I =
p {:,
800 35 500 35
\ — 47 —A2
450
700 —— o= =X
\ N 400 AN >0 oA Aols B9 50%E ST
600 — 53 \ 63 _n_al-0| 50%S % | 7.||0|ﬁ —g—|7_9| 50%E %ﬂ
— o N =Tl e
= \ 2 N onl|[Wllinz [ cnl|RBlins
&= 400 = 250 < 1| | L I - ] [ 151
E@ N 5.}9 200 TN \ ‘ 52 i
o g 300 0T _\\ \ il ™ L@
32 —— \ \ S 150 .
Tg 20 N S R = AN AN et ; | |
M 100 e NN NN\ == | == |
S N~ N 7| |TE L M| e
0 T T T 1 0 T T 1 L T o T L L T
0 100 200 300 400 0 100 200 300 AGTA 27+ 50%E % 1 el = = B ! A AN Z7t] 50%E £7
CHA|YE SHE Fa [N] OHA|H SIS Fa [N] casing fill 50% of the gap in volume FOIAN\ 27t 50%= =4l
Axial load Axial load

18 19



FLEXWAVE WP Al2|=

MEES

AET= ot ®Eef &Lt
4+ (-CF,-CNZ Yaty), ZYE3 2 MYrtsst E37t Yetx 2z Fof st ct,
Please refer to the table below for the bolt tightening torque.

Please be noted that the transmittable torque varies depending on the bolt count (different between CF and CN)
and tightening torque.

A7 .%E}_?:I E 3 Tightening torque for bolts
Input
section SEAO| = Bolt size M3 M4 M5 M6 M8 M10
ZQAEF [Nm] [Tightening torque 1.9 4.3 8.7 15 36 71
- AAREE 7} = O| AF
section nB —_o=2— o E—_IJ' [N 1 29 I o
EX L Recommended bolt : Strength rating above 12.9

% R
7//4 % BMHEET (E2XE, fLIEEY)

Bolt specifications and Transmitting torque (Closed type, Unit)

WPC [mm] SHEUWXFHE output flange attachment
Size EEAf0| = Bolt size M4 M5 M6 M8 M10
a 0.015 0.015 0.018 0.018 0.023 EEAZF Bolt count 6 6 3 3 3
b 0.016 0.020 0.020 0.024 0.024 F| 2 PCD [mm] |Bolt PCD 23 27 32 42 55
® 0.010 0.012 0.014 0.016 0.020 AAUEZT [Nm] |Tightening torque 4.3 8.7 15 36 71
d 0.013 0.013 0.015 0018 0.020 I.j Eé"iﬂ [Nm] Transmitting torque 56 106 238 566 1177
e 0.012 0.012 0.014 0.016 0.016 B
f 0.016 0.020 0.024 0.024 0.024 O|_| E‘l Lé' 7' O‘I lel ‘I?‘ (CN) Internal Gear Attachment
NEJES Size 35 42 50 63 80
EENES Bolt size M4 M4 M5 M5 M6
=E4E Bolt count 8 8 8 10 12
F2PCD [mm] [Bok PCD 65 7 82 96 125
ZYEF [Nm] [Tightening torque 4.3 43 8.7 8.7 15
WPU WPS e NZET [Nm] |Transmitting torque 210 230 430 629 1392
o — 7“ Ol é _
i A Eég;% Casing O|_| E—‘I Lé_' 7[ O'I lel ‘I?‘ (CF) Internal Gear Attachment
- AFO| = Size 35 42 50 63 80
oo S EAO| X Bolt size M4 M4 M5 M5 -
Tn;;r SEEgE Bolt count 6 6 6 8 -
u =
] seation saciion Z£PCD_[mm]_|Bol PCD 65 71 82 96 -
AUEF [Nm] [Tightening torque 43 43 8.7 8.7 -
_Hj MEE T [Nm] |Transmitting torque 158 172 322 503 -
L[ b A L[ b [4
? 'r/ IEE IO 3 F
— //A _E p ///l Internal Gear Attachment "\
I E
WPU [mm] WPS [mm]
= BN
A|-Q| T 35 42 50 63 80 A|'9| _ 35 42 50 63 80 |
Size Size _ -
EHEUNFE '
a 0.020 0.020 0.020 0.025 0.025 a 0.020 0.020 0.020 0.025 0.025 T
Output flange attachment\
b 0.012 0.012 0.014 0.016 0.016 b 0.012 0.012 0.014 0.016 0.016
c 0.016 0.020 0.024 0.024 0.024 c 0.016 0.020 0.024 0.024 0.024

20 21



FLEXWAVE WP Al2|=

- MEEZ . | MEES

NHYED (22X, FEUEEQ) BHEED (2EH)

Bolt specifications and Transmitting torque (Closed type, Component) Bolt specifications and Transmitting torque (Open type)

%Ei,” ﬁjl O'I -JF'l T Flex Gear Attachment

%Eﬂ! ﬁ7| O'I ZF—l 5 Flex Gear Attachment AFO| = S 35 49 50 63 80
AROI = Size 35 42 50 63 80 SEAO| = Bolt size M3 M3 M3 M4 M5
EEAO| = Bolt size M4 M5 M5 M6 M8 EELE Bolt count 8 12 12 12 12
EEAZ) il Gaum 6 6 8 8 8 Z2PCD [mm] |Bolt PCD 64 74 84 102 132
Z2PCD [mm] [Bolt PCD 17 19 24 30 40 ZUEA [Nm] |Tiehtening torque 1.9 1.9 1.9 43 8.7
AAEF [Nm] |Tightening torque 43 8.7 8.7 15 36 HMEE ST [Nm] |Transmitting torque 119 206 234 495 1037
MEES [Nm] [Transmitting torque 41 75 126 223 539

O|_| E:l Lé_' 7[ O'I -’F—I —'T'— (CN) Internal Gear Attachment On_l E‘I Lé_' 7I O'I ZI_S| —I?'— Internal Gear Attachment
NEJES Size 35 42 50 63 80 NES Size 35 42 50 63 80
SEAMO|Z= Bolt size M3 M3 M3 M4 M5 =EAMO|= Bolt size M3 M3 M3 M4 M5
EE4 S Bolt count 8 16 16 16 16 =E4g Bolt count 8 16 16 16 16
F|FPCD [mm] |Bolt PCD 44 54 62 75 100 Z2PCD [mm] |Bolt PCD 44 54 62 77 100
ZAEZT [Nm] [Tightening torque 19 1.9 19 43 8.7 AUAET [Nm] |[Tightening torque 1.9 1.9 1.9 4.3 8.7
MYESF [Nm] [transmitting torque 82 200 230 485 1048 MY EST [Nm] [Transmitting torque 82 200 230 498 1048

o._l E—‘l 7| O‘I -’F—I —?— (CF) Internal Gear Attachment
N ES Size 35 42 50 63 80
Y ES Bolt size M3 M3 M3 M4 M5
EELH Bolt count 6 12 12 12 12 QIEE7|oF 57
FFPCD [mm] [Bolt PCD 44 54 62 75 100 Internal gear attachment
AUAEA [Nm] [Tightening torque 1.9 1.9 1.9 43 8.7 = 2 =
HMEEA [Nm] [Transmitting torque 61 150 172 364 786 SHAII0FHT

Flex gear attachment \

JEERCET -+

Internal gear attachment

A

- ! L L == = IE 710 %
Flex gear attachment \ Y/ Internal gear attachment
=SSP TAETE I L

Flex gear attachment

“EI i-9| 2;:—7|' Reinforcement

=
E A0 FFQ MYEFIL 700 HFE|X| o
£2 gMOR £7} JHsEiL L}

Pins can be added if the transmittable torque at the flex gear interface is not sufficient. ZalAJ|{E 2

As an option, holes can be added.
Flex gear attachment \

rr
h

= se—— QIE{ 7|05

" Internal gear attachment

Thru hole for pins

I =
=

U

i 7| 4
Forcing tap

WP-35, 42 WP-50, 63, 80

22 23



WP Al2|=

FLEXWAVE E
Z=Oo| At

oleisinx

.|O=| E|1$2| ?._*_ Input section structure .|°=|§1 . éaé I IlII (WPC D D -C D) Shaft installation instruction

OI F'_=| = __I.!. XN = A%E}?_l EH;,' (xl.%_?lt_é! _7.(_)9} There are two types of input section structure,
2| x| SEfelo] Qom el Nz fe} Fpine bpe e festure snd o e Aex - EHZLS F0| Bt YCYSHE - UALSES
CIELE L O MM = X A5 2 &HolHpRbL| o} KXot 2= ot F=HAI2. (of2f D82 &1 o)

Please design the support structure for input shaft and output shaft so that both radial and
axial loads are supported. (Diagram below shows an example)

BASERIER (AFsEATR) W2 X =EHY
)

Spline type (self-centering Rigid type
=g =
=" :'?
Output shaft J | J el =

] L ( ? Input shaft
HO—O]
O— 0

o
-

= x| A
.;I=l“2| g II'I' Cam hole diameter
M 29| X|&= HA0| Jts¢EL .}, The diameter of the cam opening is cust_om'i;able.
Tol TX = 3 A =10 74 o N ol ol Holes smaller than the 'standard hole size' in the
OI'EH —| == II—[— OI Ol' | = _El' El’ , table will be built in the spline type. Holes equal = 1A
_'E%_:—O“Aﬂ _71_E| EH il _/I\_gl tl':l-l ‘r‘l [ EI Xl - El'ol Ol =l L—l E—l’ to or larger thal:] thg 'standard ho[e _size' anld .#I—rxl—r (WPC— D - D —C D)
_ smaller than the 'maximum hole size' will be built Attachment flange requirement
Ot HE 2o Xl 22 E FTA|7| HiZHL .}, in the rigid type. Please contact us if you need gereq —
sizes outside the specification in the table. = _ - =a =
ZaA|0j9 Hotes FPEUR = SHAT|0f
&R E 25Ho] Oy II#% KNAHAFHA 2. o
- S
For the attachment flange that comes in contact with flex gear, please build the R
H \ corner radius according to the table below, in order to prevent damage. 1]
[mm] B
4 A B 42 50 63 80
I /_ _\ Item
\A D | 245 29 34 42 55
] R 12 12 14 15 2
E(F RS B -0- o -
ZHX| 4 Cam dimension [mm] .-'-E.ITITO = “II xl'l' (WPU D D C D) “
II Tor= Size requirement of the flange for motor attachment -
l-Sizle_ 35 42 50 63 80 Yo
— SUEEIY0 ZES 328 2L 528 ZWX I} L el = AT
— = © = - T — —
standard bore size 6 8 12 14 14 OI-L’I E'l' EE'I ‘Jrc‘l‘?_g EIE_HX|9_| I|_/IEE Ol‘EH9_| II‘/FO'”
= e =4 A
An attachment flange is required in order to attach a unit type Flexwave to the AT RS
X AD] motor. The table below shows the dimension requirement for the flange.
ZAFHH 6 7 3 9 11
minimum thickness [mm] A 7_
1= g 42 50 63 80
tem
B 73 79 93 107 138
T 38H7 48H7 56H7 67H7 90H7
t 3 3 45 45 45
a 0.03 0.04 0.04 0.04 0.04
b 0.03 0.04 0.04 0.04 0.04 t

24 25



FLEXWAVE WP Al2I=

| DE{X|=HiH SJOIo|E

O FE{=|EH - - - ) ) (=l | = 3 | =
._I_E'l'I'IT Jﬂ (WPU D D C D ) Motor installation procedure _!'—Lxl—.l Ex =k- Transmission Angular Accuracy
WHTEM '7|-|:x-||:|-;g||:a|. ) 0
EE‘l 0“ == XI | Procedure 1 S =g=xer
= == + Attach the flange on to the motor —?——'?'—3|-OHA'| gl E'—l-! g‘:‘% §|7CI_A| % 75' @ £ 05 Tr::s':gﬂn%a%ciw
EE:l =';O“ 74 (H'” O'I Ec'}I ) = —’F—l T + Attach the cam with elastic bearings to the motor shaft o OI OI EAI’O' %3' §I ~Zt gl_ Al Iy S
oL E0 &E + Attach the unit R *; < 7|__| . == EH'I ‘g 0.0 ”\”‘“m“LH“M\Hlml““h\‘H"”\‘,\,“ nEnnAnEN it
Hel £83|d 29 &t S ”H]ﬂ”l”ll]l” lm ””l”mw! b
A
Gl % -05 N
What is Transmission Angular Accuracy? 2 7
It is the difference between the measured output
[ | rotation angle and the theoretical angle, while input 10
= = ] _Ea_ shaft is rotated with no load. 0 90 = o J—;gmz(z) 210 360
[ =584
ﬂ |‘ | \ Output shaft rotation angle (deg)
H= =: [arc min]
) R S
25| Size
Ratio
H 35 42 50 63 80
| J || =12 50 2.0 20 15 1.0 1.0
||/ A o motor 80 | 15 | 15 | 10 | 10 | 10
-7 10 | 15 15 10 | 10 10
7t L 120 - 15 1.0 10 10
unit =UPN
flange
mAREA 2
EE—I xOﬂ - I:l'||0-| 5o i| — Procedure 2
= o = ( _O) = T « Attach the cam with elastic bearings to the motor shaft
DHO EHXE FEF « Attach the flange on to the motor
+ Attach the unit
RUE FF
= A ABA
. OI—E‘"EIAI—E— Hysteresis Loss
| o — =aix
L flange — SIAEHIZIA| AR AR H S 2t
) ! i - _53_ - Twisting angle
= | YAES DY B0 & A
A2 J}5t9 S Ao HZ2EA SIAEENAZE A
=3l 7o Hysteresis Loss
= = Aol H|SE 22| At
‘ What is Hysteresis Loss? 7V > £E3
= When torque load is applied at the output shaft in / Torque
| ) u motor alternate direction repeatedly with input shaft fixed,
ﬁ ou there is residual twisting angle when torque is back
| —1 = to zero.
— % cam In this context, hysteresis loss is the difference in
the forward and backward twisting angle.
gL E
unit \
h [arc min]
x|= A|O] <O AtO| =
‘T’ITAI—I 'I'—I Caution during installation 25 H| Size
Ratio
- = = = 35 42 50 63 80
7t REo| ZYAE HEF HOR FEX YEE 50 FHAR. R R e B
215 ASSY (H, Z2H)E 7|27 HYU=EX RS Fo FHAIL. 80 15 15 10 10 10
+ Do not use excessive force while mating parts 100 15 15 10 10 10
+ Please watch for tilting during input section assembly (motor insertion into cam) 120 . 1'5 1'0 1'0 1'0
B

26 27



FLEXWAVE WP Al2I=

£ Mrj|0| | w = JL|OJEf

x A
.EI I:I'IHJIIE“TIEol: Maximum Backlash .7'%53. Starting Torque
[arc sec] [cNm]
[z AFO| = ‘ A0 =
ZE|CHuHEH EF0 |2t ZH&H| Lizle— JISE3E ZH 4| gizle
Rati = = Rati
U I AZEIOIELRIQ H 2 o 35 42 50 63 80 A ZOAM WAL F 0 w0 s 42 50 63 80
EH=0 4 50 27 27 18 16 16 AHZ0| 3 S A &stE ET 50 1.7 3.9 55 8.7 19
( Jlo{atEE| 20| w4 = 0 0| 7| w20 ) 80 17 17 11 10 10 (—'?——‘f'—é[-’ —7|<—|_=| T - 25 C) 80 1.9 42 6.0 9.5 21
2| A =Ef 2 e+ 0 YT 100 13 13 9 8 8 100 1.6 35 5.0 7.9 18
. ) 120 — L ! ! ! What is Starting Torque? 120 — 28 fl.O - 63 14
Yinatis Maximum Bacidash? Input torque needed for input side to start MAFS ZAO0 et gho] HE 22, FH X AL E
In this context, maximum backlash is the output rotating (no load, ambient temperature : 25°C ) For reference only. Torque value may vary depending on the condition.
backlash for spline type input shaft. (Backlash is ’ ’

zero for rigid type input, because gear engagement
backlash is zero.)

T A
.3'—'77'%53 Output Starting Torque

[Nm]
s%y|sEan Aol
= (o) = ZhAH L
Qé-,l ( E2Xd oSy TI'LIEEI' A) Stiffness (Closed type, Unit) ? - B < j = Ratio | Sk
£ 5010 5T Ié z 0| % | 4 | 50 | e | &
(= Spring coefficient at 0 ~ T, torque ( 8" _;'q_ :| QE ) 25 oC ) 80 19 4.0 6.8 8.6 19
= 5 =3 =0 5 ~ B R : : : :
PESS 1gotl EHS0 ©E K2 E3IFT, ~ T, 2| 225 100 | 2.1 44 75 95 21
St HO A malHA 9[. |:|| =a) ot Spring coefficient at T, ~ T, torque
e 42 2Z8 8 =87 K3'"E_f_‘l7f T, ~ of AzZEF L What is Output Starting Torque? 120 - 53 9.0 1 25
Spring coefficient at T, ~ torque Output torque needed for output side to start XALE xR 70 et gfo] 222 FUX| YLt
What is Stiffness? rotating (no load, ambient temperature : 25°C ) For reference only. Torque value may vary depending on the condition.
In this context, stiffness is the output shaft twisting B fmmmmm g Ks /
angle and the spring coefficient, while torque load K, i
is applied to the output shaft with input side fixed. ® E
Nl=3 i
J ot s O fmmmmmm e H
2 : i == | = S o ()
ne ‘. | : SEsigdES (22, RLIEE)
= i i No-load Running Torque (Closed type, Unit) [cNm]
i : s NUES
! ! e o :uR‘—'Tt” k=3 Size
: 1 = ti
0 R FEolEdESE - 35 | 42 [ 50 [ 63 | 80
HIE =
Load torque ool A 2| HAZ|=H 500r/min | 3.1 | 51 | 112 | 137 | 261
NIES 2ottt dH5e E3 oo | 1000/min | 34 | 54 | 124 | 152 | 286
é;%ﬂl |z =g Size (HodZk, FHET : 257) 2000r/min | 36 | 59 | 136 | 169 | 31.3
ti it it
e o o 35 42 50 63 80 3500r/min | 39 | 63 | 149 | 188 | 342
- T Nm 2 3.9 7 14 29 What is No-load Running Torque? 500r/min 4.3 7.1 8.4 156 | 286
- T, Nm 6.9 12 25 48 108 Input torque needed to keep it running with no 20 1000r/min 4.6 8.3 9.2 173 31.2
K, x 10°Nm/rad 0.28 0.69 1.1 27 5.6 '205"12 ;a"erage value, ambient temperature : 2000r/min | 50 | 89 | 101 | 192 | 342
K, x 10*Nm/rad 0.45 0.85 1.7 3.3 7.1 ‘ . 3500r/min 54 9.6 11.1 214 | 374
50 K, x 10*Nm/rad 0.55 1.1 25 40 8.3 500r/min 29 14 9.5 14.2 22.5
6, arcmin 23 22 20 1.8 20 100 1000r/min 3.1 8.0 10.5 15.7 246
6, arcmin 57 45 53 5.5 6.5 2000r/min 33 8.6 115 | 175 | 269
K, x 10*Nm/rad 0.45 0.92 1.2 3.3 6.9 3500r/min 3.6 9.2 12.6 194 | 294
80 K, x 10°Nm/rad 0.63 1.1 18 3.7 8.1 500r/min - 6.1 92 | 124 | 263
100 K, x 10*Nm/rad 0.70 1.3 2.2 45 10 o 1000r/min - 6.5 10.1 13.8 28.8
120 0, arcmin 1.8 1.3 1.8 1.6 1.7 2000r/min - 7.0 111 15.3 315
0, arcmin 4.7 35 48 44 4.9 3500r/min - 1.5 12.2 17.0 345
XEO| g2 Hogtelu ot MALE X0 Mt gio| Ch22 2 FH X L},
Average value shown in the table For reference only. Torque value may vary depending on the condition.

28 29



FLEXWAVE
. S40iolH

30

H=E (EE2XY, RLIEEY)
Efficiency (Closed type, Unit)
Fot[%]: FotED /SI8EHED
- FH2E 0 25T
X el == A =00E 2] Bt gt LT

— L = 1

« Percentile Load (%) is equal to load torque divided by
allowable average torque.

+ Ambient temperature : 25°C

* These diagrams represent the average value of the
actual measurement.

WPU-35-50 WPU-35-80
100 100
500 r/min @ 500 r/min
90 | e=====1000 r/min 90 H === 1000r/min
oy s 2000 r/min ) e 2000 r/min
é 80 [ w3500 r/min § 80 [{ w3500 r/min
5 70 570
== ==
— 60 / — 60 #
3 i
1|0: 1 /
40 / 40 /
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
5} [%] Percentile Load 5} [%] Percentile Load
WPU-35-100
100

500 r/min
90 [ em==1000 r/min

g e 2000 r/min
2 80 H e====3500r/min
£
Z o _—
Ol 50 ////
LI y 7z

Ny

20

10

0 20 40 60 80 100

25} [%] Percentile Load

N=E (EE2XY, RLIEEIY)
Efficiency (Closed type, Unit)
ot [%] : FotET /SI8EDED
- FHZ2E 1 25T
X el 2= A =005 2e Bt LT

—— = T

WPU-42(50)-50

WP Al2|=

SJOiolE

+ Percentile Load (%) is equal to load torque divided by

allowable average torque.
+ Ambient temperature : 25°C

* These diagrams represent the average value of the

actual measurement.

WPU-42(50)-80

100
500 r/min
- 90 [ w1000 r/min
° s 2000 r/min
2 80 s 3500 r/min
470
=)
— 60
O 50
||01
40
30
20
10
0 20 40 60 80 100
25} [%] Percentile Load

100
500 r/min
90 |[H w1000 r/min

& 2000 r/min

2 80 [ e====3500r/min

70

i~y

— 60

ol s

||0:| /
40

30
20 /

10

0 20 40 60 80 100
25} [%] Percentile Load

WPU-42(50)-100

WPU-42(50)-120

100
e 500 r/min

- 90 [ em===1000 r/min
o e 2000 r/min
2 80 [ ==3500r/min
2
w70
=
— 60
o 50
||0:| /

40

30

20

10

0 20 40 60 80 100
235} [%] Percentile Load

100

@ 500 r/min
90 [ w1000 r/min
e 7000 r/min
80 [ ====3500r/min

70

[%] Efficiency

. = |

ot so
LI p/
30
20
10
0 20 40 60 80 100

2 5F [%] Percentile Load

31



FLEX[UFIVE
Aho] E1

éharacterlstlcs Data 8

2 (E2Zd, RLIEEY)

EfF C|ency (Closed type, Unit)

_I?l_gl. [% ] : _?_3}53_ / 3.{ _g_rg E’Eﬂ « Percentile Load (%) is equal to load torque divided by
. allowable average torque.
FHRE . 25T - Ambient temperature : 25°C
= A= o| IE 3 7}0o| * These diagrams represent the average value of the
ES :,'EH Z= dFHoIH S Bt actual measurement.
WPU-63(80)-50 WPU-63(80)-80
100 100
e 500 r/min @ 500 r/min
- 90 [H w1000 r/min - O0 [ e======1000r/min
2 e 7000 r/min ) e 2000 r/min
2 80 A _==——3500r/min 2 80 [ ==——3500r/min
= =
w70 w70
= =
— 60 — 60
o 5o o so
||0:| '|0:|
40 40 / E
30 30 — O =
20 20 Flat type
10 10
0 20 40 60 80 100 0 20 40 60 80 100
25t [%] Percentile Load £ 5t [%] Percentile Load
WPU-63(80)-100 WPU-63(80)-120
100 100
e 500 r/min e 500 r/min
.. 90 [ ===1000r/min 90 [ e====1000r/min
>
2 e 2000 r/min & e 2000 r/min
g 80 R 3500 r/min 2 80 [ ====3500 r/min
= =
Y70 w70
= =
= 60 / = 60
= Ay i
I I
40 40
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
£35S} [%] Percentile Load 25 [%] Percentile Load

32




WIS ES

Al+E

Reducer Model Nomenclature

U|—-| 35 |-

| 22x3 ZEUE Elg
Closed Type, Component

50 |—

34

FE=* : CD. CDH. SD. SDH
Code KM DS RAES Hols AL, LE
B o st s croc I; L6
44| 0 50, 80. 100. 120 LH L
Ratio =
— AMO|= : 35, 42. 50. 63. 80 = s =
Si = — -
- @ & H Availability M-8ST
I E_l.'O=! : C . _E_;\_t L_Ij E E_l.(')=! Ratio matrix 1
S ...ZH0|| 4 E EIY o =4l 50 | 80 | 100 | 120 A 5 = i
U SL|IE E}Q o (A2 ¢ _ — |-
...wHE EIY ) 2 35 S E = | 2
FUEEY (S35F) g = - Nl S| = SIN|E
Type : C...Component type 42 s[5 N 0.5 g s é
S...Simple unit 50 H g
A2l2E - WP AIE X U...Unit Hollow unit LK
Series name : WP Series 63
80 L
EA Y
()
7= -—'T7 IAI' ot Reducer Specifications X
X1 X2 X 3 X 4 X 5
Zanl | SBEIED | S2AUED | sMNNHED |2BRYAATL | BHYAA ML
A|'O| = Ratio Nominal output Maximum output Emergency stop Nominal input speed Maximum input speed
Size R torque torque torque
[Nm] [Nm] [Nm] [r/min] [r/min]
50 3.7 12 24
35 80 54 16 29 3000 8500
100 54 19 31
50 11 23 48
80 15 29 52
42 3000 7300 [mm]
100 16 37 55 -
120 16 37 55 MOIZ N A | B | LE | F| e | k| W | N Ww | w | LT
50 17 39 69
35 44 50 1 6.5 45 1.4 - 0.3 6 3.5 - M3
50 80 24 ! » 3000 6500
100 28 57 76 42 54 60 12.5 7.5 5 1.7 - 0.3 8 3.5 - M3
120 28 57 76 50 62 70 14 8 6 2 3.3 0.3 12 35 6.5 M3
50 27 69 127 63 75 85 17 10 7 2 3.3 04 12 35 6.5 M3
80 44 96 147
63 3000 5600 80 100 110 22 13 9 25 44 0.5 12 45 8 M4
100 47 110 152
120 47 110 152
50 53 151 268 MOIZ | sa | sB | sc | sD SE SfF | ox | or | oz M sT | su
80 82 212 334
80 3000 4800 35 17 11 235 11 17 4 6.5 1 38 8 35 M3
100 96 233 359
120 2 233 359 42 19.5 11 27 15 21 5 7.5 1 45 8 45 M3
% 1 22354 2000r/min Y 2| 5 &5t Z[CHA| *1 The maximum allowable value at the input rotation speed of 2000r/min 50 24 16 32 20 26 5.2 8 1.5 53 8 4.5 M3
%271 - dXAQ 5 &5h= Z i *2 The maximum torque when starting and stopping.
%357 50| MBS 12| 5 85k F T4 *3 The maximum torque when it receives shock. 63 30 20 40 24 30 6.3 10 1.5 66 8 55 M3
X 42X S0l 51 8otz B UHAZ T 42| FCHR| *4 The maximum average input speed.
X5 2 E0| o{ ot H3| ™40 z|OiR| *5 The maximum input speed. 80 A1 30 52 32 40 8.6 13 2 86 10 6.5 M4

35



ﬁ'i; “- t\“\ © 5 Lo /’/F !

S 51 ©
1224 RLIEEIY I 224 RLIEEIY
Closed Type, Unit Closed Type, Unit

WPU- 0O -0-CD WPU- 0O -0 -CDH

LE LE
LF LH LG LF
LG Y 0-ring tH ooring
Qg\"
== o
SF ]
- _ _ | = SF
al 8| a N 0.5 aaggﬂ £|s S| =1 N = = =
s |€ g |9 HERE s  g|¥ala
s b (by i 8%
' 5
LI ' TR o |ES
LJ LM
LK
LJ LN
LK
LM
[mm] [mm]
SES LA LB LC LD LE LF LG LH LJ LK LM N LU Aol = LA LB LC LD LE LF LG LH LJ LK LM LN N LU
Size Size
35 49 55 31 425 25 23 0.5 2 5 14.7 1.7 6 35 35 64 70 49 48 22 215 0.5 2.5 3.9 49 12.9 2.8 6 35
42 56 62 38 495 26.5 245 0.5 2 5 16.2 1.7 10 35 42 74 80 59 56 22.7 222 0.5 2.5 14 3.7 134 2.8 8 35
50 64 70 45 58 29.7 27.7 0.5 2 5 18.7 1.7 12 35 50 84 90 69 64 26.8 245 2.3 2.5 43 48 16.3 2.8 8 35
63 79 85 58 73 37.1 34.1 0.5 3 55 23.6 2.6 18 3.5 63 102 110 84 80 315 29.4 2.1 3 3.5 5.5 18.5 3.4 10 45
80 104 112 78 96 43 40 1 3 55 30.5 25 18 45 80 132 142 110 106 37 34.2 2.8 3 25 6 20.5 3.5 10 55
=
AE?ZLE SA SB SC SD SE SF cY Cz M ST SuU A!;)ZL_ SA SB SC SD SE SF Cz M ST SuU
35 25 12 11 1 17 4 1 38 10 M3 X 6 M3 35 42 30 1 1 17 4 38 8 M3 X 5 M3
42 27 14 11 15 21 5 1 45 8 M5 X 8 M3 42 50 34 11 15 21 5 45 10 M3 X 6 M3
50 34 18 16 20 26 5.2 1.5 53 8 M6 X 9 M3 50 60 40 16 20 26 5.2 53 8 M4 x 7 M3
63 42 24 20 24 30 6.3 1.5 66 8 M8 x 12 M3 63 73 52 20 24 30 6.3 66 8 M5 X 8 M3
80 57 32 30 32 40 8.6 2 86 10 M8 X 12 M4 80 96 70 30 32 40 8.6 86 8 M6 X 10 M4

37



| 2 20| RLIEEIY | 28 RLIEEI(S3F)
Open type, Simple unit Open type, Unit (hollow shaft)

WPS- 0O - 0 -SD WPU- 0O - O -SDH

LE
LF LH

LG LF LH
LL LK LJ
>}

LG

LJ =

"SR SNEE E|Z|E HEME
e ] ol =z [T} (W] Ul m a
35 s CENEE ¢8|2 HENE
(;7
@, _ 2
& La
cv | cY LP =
2
INPUT SHAFT FOR 35842
[mm] [mm]
Alo| = AtO| =
Size LA LB LC LD LE LF LG LH LJ N LT Size LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
35 43 70 50 49 17.5 155 24 2 15.7 8 M3 x 45 35 43 36 52 70 455 19.5 12 14 6.5 1.5 9 25 55 6.5
42 52 80 61 59 18.5 16.5 3 2 16.9 12 M3 x 45 42 52 45 62 80 48 20.5 12 15.5 7 8.5 10 25 55 6.5
50 61.4 90 71 69 19 17 3 2 17.8 12 M3 X 45 50 61.4 50 73 90 42 21.5 5 15.5 7 8.5 10.5 - - -
63 76 110 88 84 22 20 3.3 2 21.6 12 M4 x 6 63 76 60 87 110 46.5 24 6 16.5 6 10.5 10.5 - - -
80 99 142 114 110 27.9 23.6 3.6 43 273 12 M5 x 8 80 99 75 114 142 55 28.6 7 194 1.5 11.9 12 - - -
AbO| = AbO| =
Size SA SB SC SF CA CY Cz (03Y Cw M ST SuU Size SA SB SC SD SE SF M ST SuU N LT
35 64 11 17 4 0.3 1 36.5 1.6 31 8 3.5 M3 35 64 - 14 20 74 36 8 35 M3 8 M3 X 45, ¢ 35 x 55
42 74 15 21 5 0.3 1 43.5 2 37 12 35 M3 42 74 - 19 25 84 45 12 3.5 M3 12 M3 X 45, ¢ 35 X 6.5
50 84 20 26 52 0.3 1.5 53 2 44 12 3.5 M3 50 84 25.5 21 30 95 - 12 3.5 M3 X 6 12 M3 x 45, ¢ 35 X 6.5
63 102 24 30 6.3 0.3 1.5 66 2 56 12 45 M3 63 102 33.5 29 38 115 - 12 45 M3 X 6 12 M4 x 6, ¢ 45 X 85
80 132 32 40 8.6 0.5 2 84 2 72 12 5.5 M4 80 132 48 41 45 147 - 12 55 M3 X 6 12 M5 x 8, ¢ 55 X 7.6

39



Nl

—All for dreams

SRUEONAEFAAN

MEA 27 UXEZ 342 55 Z2EMO[HAHME] 2Rt 317
TEL 02—2038—3537 FAX 02—2038—-3538

MIDEC-SHIMPO KOREA CORPORATION

#317 Kolon sciencevally I, 55, Digital—ro 34—gil, Guro—gu, Seoul, 08378 KOREA
TEL 02—2038—3537 FAX 02—2038—-3538
e O] ZICt2Z & 2016 8

of =
&S

Aol LA MEZ2 o2 U A

ro

g /sl HEE & AU

fjo

e Outside appearance and dimensions of the products are subject to change without notice. This catalogue has been printed as of August, 2016.
Copyright NIDEC-SHIMPO Corporation. All Rights Reserved.

nidec—shimpo—korea.co.kr
ShEUE™AMME

E—mail

korea_sales@nidec—shimpo.co.jp

A8 No= FZMHAE
A EHISIAOf HIZA NS
SEEgLY )

409378



